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2V YT 1woN ,UTNN DNNIATRN 7V 001K Yy N7Aph O
['VIAN 7¥ RV NIKONA |IN'TA D'POIVA ['VIAN TIR 'Yap 7V
2.5. X nyn
kernel/sched.c-1 include/linux/sched.h :np™jp'vn o'¥apn =
Ingo Molnar :wTnn DNMIA7RN 12NN DY '97 DA WON7 N =
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(1) Linux-2 070N 't

2V "nant 1" yn? 00N 1o0on? nwonn Linux =
time ) DN "2 TAVNN AT DRI NIYYNN Tavnn
(sharing
AYPN NO7NN NIYXNAXKA INKYT TNX )'7nNn Taynn nNayn O
NIYXNN] NOOX] [NTn Ni7n "o 20" 07NN iy =
D1IXIN DN X7 070N OX DA ,N7Y9NN NDYN
Taynn v
Preemptive multitasking O
ninion Linux-a "o a3"n oonnn mt N =
SCHED_OTHER
TN NXNIY '9D NIBO0N [IN'T NI w' O
Q19> XIN N7 [IN'TA NIYTA ‘NN Tam 1'70n D7 0
TA7 1T DI TpPNnN1 \wnna O

2003 1IN TX (C) Linux-2 o>'%0n m't 4




Sn (2) Linux-a 070N 't

nnr-nt '*70na "0 0" 070N qona ,nonin Linux =
(real-time)
30 T'NNRI X [NT2 NN 0'IY D'YN'R 7V 2107 0'Nxn 070N O
AYWORN
DI NMUYYN NP, N0 Mgt NIRNAIT O
D'7'27 027NN 19-7Y N¥M7 D'9TVIN NNR-|AT D'7NN =
NX¥M7 022N NNR-|AT D700 Y OX Y7 01T DI'R 0720 090N O
(TASK_RUNNING axn)
T NI 7w 09011 D'AI0 YW DM NAR-|AT DN Y =
Taynn — nrre Ty oy (non-preemptive) n71ve qnw :SCHED_FIFO O
AN TV 170N WK IX 17V N7 07NN 170NN UKD 71 N19Nn
N¥"M7 012NN NI 0'9TYN 070NN MY NXPIN TAynn .nxMY? pIn
?7inn Taynn nt — (Round Robin) nnw mrt njpi7n :SCHED_RR O
NX¥"M7 DDINN NI 0'OTYN 0DY7ANN 7D 2 Y Nixa
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" S
(SCHED_OTHER) pn'tn on"Ma%x

(epochs) "nioipn™? P7iNn Taynn N7 =
time slice — Tayna wm'w'? Nt 719 2xpIn 170N DY =

Tayna nx¥? 170N rungueue-n IMn 1N time slice-n norroa O
2v2 (TASK_RUNNING) nx™% pim 3*70n 10 n¥17 "n1an p'7nnn O
17w time slice-n JMn Ny AT 17 ANNY NI DNRAD NIDTTYN
TV Tayn7 DIt N¥17 0mn 00NN 7 ,N91n ma =
NINNNY X1 IX 17w time slice-n NX n'7on '70n Hw
-N NIX D0 N¥"MY7 DIN |"TYY 1'70N 7D TUKRD NN"'NON N9IN =
17w time slice

[P0 70N 707 N2 NWTN N9IPN N7'NNN N9IPN DI'0 TNKT7 =
wTN time slice nxjpzim nx1%?
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[IN'T DNMATX UMM

D'NAN TIPN 2N My Linux 'y wnimn (infTn DNNRYN =
(kernel/sched.c yalj)
nx¥17 XN 70NN NN 7 'RnRw (scheduler) o'7nnn |t O
NISIPN N97NN W1 Tayna
schedule() n'xj7aon =
"M2NN 70NN 7Y [T M1 Y (VY Nntyo ) T DTV [ O
7i¥n 97 arn n7veni (‘1L time_slice ,niorTy) Tayna yw
scheduler_tick() n'xj1on =
:NINNNN NITNAINR'Y ,JWNNA DRI 19D D INd O
ATIN/RXI'Y 1"7nnn v [M'TN 2IN) D'DTIVN =
Tayna N¥N17 170N WTNN 1INY T AT 7uoIn =
(de)activate_task() ni'xjpiion =
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INT DTN

TN [IYVY NIN'YWO NIYVYIN] QWUNNA TTN] AT §
UNIN 1TAIN
Tayn? 2IX'N NNIN [PNN KN (YN0
NN NP'09 NN IVW NS 750

HZ=100Hz v 7Tn7 n1dINN lywn Linux-1 =

TTN (JIVY NIN'Y9]) AWNNN N7Y9N TRN NTN =
jiffies 'npn nam N2 Linux-a
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(1) 170N nioTY

NI9TY 7V NOOoIAN Tayn? [IN'T7 Xan 1'?NNNn NN =
(process priority) 1*7nnn

"N 77NN '"2'T [9IX] NV 1'7NN NIS'TY =
N'VLVO NIS'TY - YIAP '0'oa W O
I'ANN N'UVON NISTYN X YWII' A 7NN =
(nice() nnar™ nixAp) AP -7y nrovo N9 TY N7 N1 =
770NN NI7'Wo7 DXNN 0'0aN W7 MY T W O

-7V JNN/I1120 NNV NN 'NANYT7 XY 170N NS v .
IXN NIV NXMY7 MIDTY 1NN

19-7y 0'oTYIM (I0-BOUND) o/ 'ny Dnw 070N ,'770 [9IX2 =
N9y NNIX '72wa (CPU-BOUND) aiw'n 'my Dnw 070N
N'VLVO
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(2) 170N nioTY

1707712 nyapa '7nn 7w niorTyn

(MAX_PRIO-1) 139..0 jn nio*tvn nianT O

nnr-jat 7nn? nimvim (MAX_RT_PRIO-1) 99..0 ninorty O
0'7210 0'70N? nimvim 139..100 nriey O

195001 ,N21NY NIS'TY |''YN NIda MO0N NS TV 1NV =’

120 nio Ty DY 7'O-NMA NN N =
120 n'ovo N9 Y7 nudN O
-> ATam 120-7 1'70n 7w n'ovoN NIBTYN A WI9NN =
J"7nnn 7w (nice 1Y) niceness
+19-% -20 |2 va nice-n 1w 70 7N Ny O
:TASK_NICE Nnpxna yaign aw'nn O
#define TASK_NICE(p) ((p)->static_prio — MAX_RT_PRIO — 20)
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© (1) runqueue-n 7y 2NN Van

\INNIN 7D DX [ONNNAN DRINI N1AN KIN runqueue-n =
D''"7NNN 7w (process descriptors) no'*7nnn
("xpn nuon") o1on Tayn 7Y N¥MY 0RdM IR 0N

'0D'NAN D2IMIN DX 701 (Tavn 75 V) runqueue 75 =

-N DX 771D X7) runqueue-1 0''70NN 190N — Nr_running O
(swapper

Y21 YW 1'70NN IRNNY y'axn — curr O

swapper-n 170N IkNN7 y\axn —idle O
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- (2) runqueue-n 7y AN Van

D'2'7NNN 7w NI9FTYN NN wn? yaaxn — active O
2¥N1 0'X¥N1) N¥N7 DDIN 0DY70N NI ,0'7'WoN
NoIpPNN N1aona nx r on'? "M (TASK_RUNNING

n'nainn

197 NT YN NIN2 N¥MY yaiwn 11220 NIV NINANN ITINN 170N =
activate_task() n'¥j721o2 o1y

D'D'70NN W NI9TTYN NN wn? yaaxn — expired O
NoIpNa Dn7w time slice-n NX 17'Dw N¥M% DDIMN
n'NdIN

active-n [lyxn *7nnn 12y 'mn — expired_timestamp O
N'NdIIN NoIpNa expired-7
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1 (3) rungueue-n 7y 2NN Van

7'on (struct prio_array) ni'is* Ty NN wN =
:0'NX2N DININ DX
NT )IYn2 DUI¥NN 00NN 190N — nr_activeO

NI9TYN NIAT 190N 7T1A2 0'V* 1VRI — bitmap[]O
(0'uv12 140)
i NI9TY7? o'kNNN M 07N W R (1) pi7Tiva e
NIDTYN 1IN [IYRIN 170NN KIN [IN'T? XAaD '7NNn =
O(1)-2 awrn — 177 17w V'ANY active-a NI Man
NAT 727 N0D DY LINXY DMINN wn — queuel]O
AN WK 0791 N0t 73 .(n101d 140) niorty
Jist_t aion
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- (4) runqueue-n 7y AN Van

runqueue

nr_running

[

3"70N IXNN (.:urr
swapper * idle

rio_array t e active

nr_active / expired

queue | bitmap expired_ts

—E 0 |58
f E > 1 112 io_array
D\;/ ; 1120

D0'2'70N IRNN
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Q§(1) IN'T7? D'wnwnn 170N 2im)

In'TA D'wnwnn

370NN Y ITh NifTn 'nn — policy O

7V N7 K Y'70Nn oRN 7aT — need_reschedO
Taynn

2210 NN '71n set_tsk_need_resched nprknn =
22710 NX n2dn clear_tsk_need_resched Npxnin =
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D'NAN DIINMIN DX 79N '7NN NN =

37NN N9 Ty — priod

NXI1 — )'70NN W N'VLVON NI9'TYN — Sstatic_prioO
wnna

N97NN NyxIA NINNX? 'Mn — sleep_timestampO
ANTIY AT RIN 70 70NN i) 1'7nninn wwpn
(Tavnn 7y

170NN 7w "yxmn" nannin at — sleep_avgO
IYNN2 D'0Y9 — 70NN NIANINN [I'9X7 YNwn =

NINNN (JIvY NiN'yo1) [ntn Nimd — time_sliceO
n'ndnn (epoch) noipnn 170N nx? 1'7nn?
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(1) scheduler-n — n'7nnn art

[IN'T 2V 'RANKWY Linux |'v122 N12IN 2D KN DD'YDNN AT =
Tayn7 Xan )'7nnn
schedule() n¥jpa1on — Ath Ty O
AYPNN NO7NN N'¥19 NIX 7'Won TRI XAN 1'7nNn DX N nth O
Jwnna vN'e — context_switch()
D"I"9IN 0PN 190N 7YOIN NTH =

17w time slice-n NX N7'D 1"7NNW ANK7 — IYW NR'0D 7V nanna O
(scheduler_tick() mMawn niajpya)

72 ,NMNNN7 Y7 XIEn 70N NNNian Ndwn NXNpEA 719'0a O
(sleep_on() Mnart NNaw) INX '70N YN n19nn Tavnnw

17271 runqueue-1 )*7NNN NX Yaw? ¥ — ninnnn 1'70n 7w natna O
(wake_up() m> nnaw) Twpn NO7NN Y¥A7 W' DN NRXIND DX

[123 N>WN DX NIXIN TAynn DY N7 07NN 1'7NN WX O
sched_yield()
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(2) scheduler-n — n'7nnn art

NMION NNINN NIR'0D TWKRD 7¥9IN 070NN NT =
[IVY Nj7'09 NIAyA |ATh 7¥ ND0I N7apn N7yon Nyanl D O

-7y nyxian (direct invocation) V'wr 91X ATN N7VON =
schedule()-7 nxyp
NINNN NI'YPAS NN Ywn? O

271 N7 -2 (lazy invocation) q'jpy 9182 D2 V9N DTN =
-7 kernel mode-n narn 197 1*7nnn "xnna need_resched
user mode

X 7'won D oXI 2177 7"0 72Th DX 2T TIEn NP'05n NNTh D1 O
schedule()

7w time slice-n 7N DX, [IYWN NP'092 719'0 170N N9 NNt O
need_resched 7210 nx nj*7 scheduler_tick() nawn ,)'7nnn
770NN IXNNa
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" S
S\:@:\;Ei (1) schedule() n'x¥j719n

prev = current; (Taynn 72y ANiNnY) 'ndinn "7nnn IXNNnY? yraxn prev
rq = this_rq(); 'Nd1N Taynn 7Y rungqueue-n NX 7'Jn rq
spin_lock_irq(&rg->lock); NIE'09N Nn'on
switch(prev->state) { N

case TASK_INTERRUPTIBLE:
if (signal_pending(prev)) {
prev->state = TASK_RUNNING;

break; NINNN 2¥N7 "aYY 1'70N N
} > vyn? runqueue-n INN KXIN
default: NINNN2 NY19N 7w axn

deactivate_task(prev, rq);
case TASK_RUNNING:
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e
z\iﬁgi (2) schedule() n'¥j71on

. . ~

if ('rg->nr_running) {
next = r9'>id|?§ 2N INT? 070N NI 'R DX
rg->expired_timestamp = 0; >~ swapper-n '7nn (It runqueue-n
goto switch_tasks;

} J

array = rg->active; h

if (larray->nr_active) {
rq->active = rq->expired; ,active array-a n'>'7nn NN X7 ox
rg->expired = array; > nI'o) expired-ni active-n |2 0'o*7Nn
array = rg->active; (NwTN NOIPN N7NNNI NoIEN
rq->expired_timestamp = 0;

} J

2003 1IN TX (C) Linux-2 o>'%0n m't 20




11

@ (3) schedule() n'xjaon

idx = sched_find_first_bit(array->bitmap); Tayn7 In't? Xan *70nn
queue = array->queue + idx; I'?;N"gg?gn;r?gn (next)

— i i} Loty V1 activi y-11mna
next = list_entry(queue->next, task_t, run_list); MM nARAN IS
switch_tasks:
clear_tsk_need_resched(prev);
if (prev != next) {

"y Awpnn N97Nn yix\a
context_switch()-7 nxyp

rq->curr = next;
prev = context_switch(prev, next);

AIYON NIX YUXIN ' :D'IRY

C . . NXPN INK? WTNN NIR'ooN

spin_unlock_irq(&rg->lock); + 2context_switch()-2
} next 1'7NNn :naIwn
else

spin_unlock_irq(&rg->lock);
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b M'T 21N 7¢ M IDTY
- | |

lvw nn'wo T n7yoin — scheduler_tick() n'xj71on =

YV 'NDIIN ']"mnn v |M'TN N1 X N1DTYN w
. TAyna
N7'00'VLO YIO'X NIVXNKX]A 1"7nnn nianinn |I'sx d
"yxinn nannn Nt =
:Inrroal ,time_slice-n mupn O
'7NNN '9IX7 DXNNA NI TN NI9FTYN YW wTNN AIY'N =
wTn time_slice nxxpn =

IN expired-7 :DXNN2 770NN NNAYAT A'OPRIVIN P'7NN NPT =
active-7 a1y

need_resched — atn N7yon7? nUjppa =
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;g (1) 7"7nn nananN |I'oX
/L

NTYA 170N 7w "yximnn nannnn At X NTTM Linux =
J'7nnin XN sleep_avg

nt 75 70 NINDS "11'aN NV NINANN AT 7D Y0 = "yXIinn Nannn ™™ O
nxn

N'X119) MW [IYWD W, TN 7Y Nin '7nNY nys D1 =
:(schedule()

p->sleep_timestamp = jiffies;
N'¥2119) [1AWN7 NINNNN AT 0N NINANA TIN 17NN UKD =
MAX_SLEEP_AVG *mrojm 71127 Ty (activate_task()
#define MAX_SLEEP_AVG (2*HZ)
sleep_time = jiffies — p->sleep_timestamp;
p->sleep_avg += sleep_time;
if (p->sleep_avg > MAX_SLEEP_AVG)
p->sleep_avg = MAX_SLEEP_AVG;
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;Z (2) 9*7nN NIANINN [I'OK
T £

uXInnnn ATIIm y1 '70nn na vw nn'yos D =
0 nm* % Ty (sheduler_tick() n'xj719on)

if (p->sleep_avg)
p->sleep_avg--;
IT AIY'N NO'Y '9-7V B

"yximn nannn At"7 yaan? 1ox 21N my 'nn0
allah

"yximn nannn a7 yan? 1ox o/p vy 'nnod
niA
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(1) 1"7nn NIoTY 7w M1 T 2N

myT 91N "7a0" 70N 7D 7w nioTYn NX N1DTYN Linux =
sleep_avg — 71*7nnn 7¢ "yximnn nannnn a7 oxnna
1VVON Y7 NIWALENA NNR-|AT D*70N N9 TY O
197 effective_prio() n'¥j72192 y¥xann N1 Tn NISTYN AIY'N =
IN2N DNMN7RN

bonus= 25%x 40x sleep_avg —Ej —5<bonus<5
MAX _SLEEP_AVG 2
prio = static_prio — bonus
if (prio < MAX_RT_PRIO)
prio = MAX_RT_PRIC;
if (prio> MAX_PRIO - 1)
prio= MAX_PRIO -1,
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3

(2) '70N NISYTY 7W "M T AIvN

v

VY¥IN' 1AW 2X¥N VI i 5-7 bonus-n 7Tanaan =
NI'0'0AN DNNIMIDTYYW DD'7NN 2 NINOFTY 19'N
1T 1T NIZINN (NI1'ovVoN)
AN qry? 190t (139 nivTy) nice 19 2va '7nnw J7wun? O

(120 nio+TY) nice 0 7va y'7nnn

70N 72U NI9TTYN MK NSWN ITAIY'N NU'Y =
NX Nyl (9/7 Ay 070N 19x) "naan rmnn''y
D'2'70N7 19¥) "ovyn 'NAN"Y 170N 79 NI9TYN
(AN nmy
IX Nin'wo HZ i7 ,MAX_SLEEP_AVG n'xnn 7w 1wn O

nmNNn"? "nann nannn" a2 qQon 1IN yaz ,NNX Ny
"noym
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(3) 170N nIorTY 7w M1 T AN

77 YXINN NN NI9TYVN 7 wTNN AIY'N |
3'70N UKD IX time slice n7on 1'7nn CwKD
NINNNN ITIN

212' NINNN NIV NN NI9TTY 7apnn y''nn0d
I |
727w NI9TTYA 17 AXPINN [ATN K170 DX YN
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% (1) 7"7nn% time slice nxyypn

:TASK_TIMESLICE npxna 1'7nn7 nxpm time slice =

#define MIN_TIMESLICE (10 * HZ / 1000) /* 10 msec */
#define MAX_TIMESLICE (300 * HZ / 1000) /* 300 msec */
#define TASK_TIMESLICE(p) \

MIN_TIMESLICE + (MAX_TIMESLICE — MIN_TIMESLICE) * (MAX_PRIO —
1 — (p)->static_prio)/39

NN 190 ¥t msec 10 nind? 7y NN D =
msec 300-n NI X7 X N'OVON NIDTYI
msec 150 '019'0 a7t 72770 (120) "n7:a0" niorTYA 70N O
time slice-n nrro oy 01 X yxian wTNn time slice 2w'n =
qwnina scheduler_tick() n'xja192 NXMW '93 'NdIN

I'7V ,2¥70 NHOY ATINT 21'A0 NIV NINNANYT KYIP)'70N OX i O
NYUTN NRXPN 7aj'w 194 19w time slice-n nkw nX n7'nn 0'oY
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% (2) 7"7nn% time slice nxypn

time slice-nn n'xnNn TaxN ARN '70N ,WTN 7NN N =
[AN 70N Ny 17w

NNIX 71N Tayn AT N1NN7 710' 1'790N 12 231 yin? :nnonn =
NN [9IX2 7wNn? ,noIpn

TIPN DX YON? J'ynny 2 )*70n Xt *7nnn time slice-n n1ro 9% O
N9IPN NNINA qoin time slice YwnY

..NX7N 21,1 ¥ 2N ,0"Non [an 7w time slice-nw 9% O
fork() nx nyxanw do_fork() n'¥j72192 jMNn win'n =
kernel/fork.c |'vaa yaip O
p->time_slice = (current->time_slice + 1) >> 1;
current->time_slice >>=1;
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(1) o"2'opPXRIVI'X DD'7NN

N9TYN Linux-2 02271 D"2'0OPRI0YI'R DDYNN =
noIPN 0'oon time slices yNn'? nipt :nTnim
nnain
07{77 D' 1'NANN DY'Y7NN DN DTAMVPERIVYIR 0DYNN O
nnnnn = "1 RN nIm L shell nnarm ,wunnwninn
TNI'NA NIDNKX

DN7 DNA7 X'N D"M'VPRIVI'R 027NN NOTYNA NVNN O
NN NYINN — UNnNYNn NI71Iv9 7Y n7'nn N1ixa 21an?
DMIY" 7M NTIAY] wnnwny
707 DNAN N7220 K77 DTA'VPRIVYIR DDNN NOTYN =
time slice-n NX IN""Ow D"2'VPXRIVI'R-X? DD'7NNY
YN 0N N1 X7 i "t nnbdnn noipna
DTENNYI
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(2) 0"2'opPXIVI'X DD'7NN

T 7V "nayan 90" 1T ,NaYINn NYSIN NX VIM? ' =
:expired-a 070NN 7w nINnnN

#define EXPIRED_STARVING(rq) \
((rg)->expired_timestamp && \
(jiffies — (rg)->expired_timestamp >=\
STARVATION_LIMIT * ((rg)->nr_running + 1))

N{P09IN ,907 "N2yn D'avIIn expired-1 0D'7NNN TWUNKD B
N9IPN1 D'"'VPXKILY'R D'D'7NNY7 0'oon time slices npavn
n'ndin

7> ,runqueue-1 0''7NNN 19017 IFYII9ND VTTANN Q0N =
NI NI 90N ,N¥N7 DRI DDY70N NI WY 00w

ANI' 07270 DMATVPRIVI'N D'7AN NI NI NN oNIvNY 720 O
wnnwnn NI7IYs? nNIX1 NN 1NN 7y mv? nan v noTvn
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(3) 0"2'OPRIVI'X 0D'7NN

MPRN YXIIN 2'0PRIVIRD )'7NN A0 =
:TASK_INETRACTIVE

#define TASK_INTERACTIVE(p) \
((p)->prio <= (p)->static_prio — DELTA(p))
A1 NTan? nana DELTA(p) Ywxd

DELTA(p):25%x40x%xm<—2—2”c£(m+2=5xw—2—'\é|%(m+2

17¥ (MM TN) NI9'TYN DX "A'VPZRIVIRI AlION 1'7NN =
17w n'vvon NI TVNN "Nan"

AIY'N2 0112 MIZNN NIAA YXINN NINAN (AT 7w ARYIN O
170NN 7Y NN NI9FTYUN
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(4) 0"2'OpPXRIVI'X DD'7NN

" 7" ,)"7nnn YW nrovon NI9TTYN N7IYY 700 =
'OPRIVI'RD ANONT7 1'7NNY
ANI' 1N YXINN NINNN AT 11X7 1Y 17ann e et O
'UPRIVI'RD AWNNYT NIN-7Y
no>1¥a "tn” nirn’? 7120 nice -20 oy '70n nnaT? O
["TVI -3 "7 o1 W N NI9FTYZ yiani Taynin
X7 nice 19 ny 1'7nN ,NRT NNIYY? ."2'0PRIVI'RD AINONY
onnNl +7 7w 0N WA D 'OPRIVI'RD AINOoN7 770 71D
+5 NIn "Mmropnin
-T2 ON N2IN) N'VVO NIS'TY V2 07N qrvan =
N'YPRI0I'R 0'771D D1'RY (batch) nnxx »*%0n 9D
vnnvnn ny
"I21,'ONIVIX 122 ,0"YTN DAY NIRAAIT O
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B (1) scheduler_tick() n'¥j71on

7Y I'T "IN NDTYNL [IVY NN'WYO 721 N7V9IN IT N'Y7119 =
n'"7NN
'"D DM vi'v DI]YJ'? D NINion Nir'oSnwd TI'HJDIYJ IT N'X2119 DA O
'7'1|7)'Jl n'Xj22I9n ]'1'71)9?1

-0 DX 00 'Nd11N 7*7nnn ox schedule() n7yon7 Dnan a'xjzaon O
17w time slice

dequeue_task()-1 enqueue_task() nr¥jzaioa nunnwn n'¥paon O
(expired Ix active) Dmunn pvNN TRRY 1'70N 7w N01dNI NRXINY

task_t *p = current;
runqueue_t *rq = this_rq();

if (p->sleep_avg) v sleep_avg-n |PTY
p->sleep_avg--; NN 70NN
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%‘(2) scheduler_tick() n'xjaon

if (I--p->time_slice) {
dequeue_task(p, rq->active);
set_tsk_need_resched(p);
p->prio = effective_prio(p);

p->time_slice = TASK_TIMESLICE(p);
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if {TASK_INTERACTIVE(p) || EXPIRED_STARVING(rq)) {
if ('rg->expired_timestamp)

rg->expired_timestamp = jiffies;

enqueue_task(p, rq->expired);

} else

enqueue_task(p, rg->active); }
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